
U P B S  CLASS III  SUBJECT : MATHEMATICS 
REVISION WORKSHEET FOR SUMMATIVE ASSESSMENT –I                                    

TOPIC : L – 4 SUBTRACTION 

I) Fill in the blanks: 
1) When we subtract one from the smallest 4 digit number we get__________________ 

2) The result of the subtraction problem is called the ________________________ 

3) 1425  -  ________________   = 0 

4) 2345 - 1000 = _________________ 

5) 100 less than 9000 is ______________ 



6) 8465 - 4102 = _______________ 

7) 4275  - __________   = 4275 

8) The difference between the smallest 4 digit number and largest 3 digit number is       
_________________  

9) 1 less than 3000=  ___________________ 

10) The number to be subtracted is called ___________________ 

II) Choose the correct answer
a) We always ________________a smaller number from a bigger number.  
(subtract, add , multiply) 

b) 3200 - 200=___________  (3000, 3400, 3220) 

c) 10 less than 900 =   _____________ (899, 890, 799)   

d) 8000  -  _____________  = 8000         (0, 8000, 1) 

e) 9874  -  ________________ = 9873     (1, 0, 9874) 

III) Write True or False
1) When we subtract a number from itself the answer is always the number itself. _________ 

2) Ten subtracted from fifty is sixty ______________ 

3) The difference between the place value and face value of the digit 8 in 8976 is zero . 

________________ 

4) 3200 - 200 is 3000       _________________ 

5) 1000 - 1 is 9999         _________________ 

6) If addition and subtraction are given together , we always subtract first and then add  

_______________ 

IV) Solve the following

1) 7975 - 5870     2) 8530 - 1256 

 

3) Subtract 2167 from 6905   4) Subtract 2125 from 4000 



4) 4426 + (3512 - 2401) 

 

5) 3576 - 2348 + 3876 

 

6) 2456 + 1030 - 2598 

 

V) Word Problems



1) Mr. Sharma earns Rs 8690 per month.  If he spends Rs 2910 per month, How much is his 
savings per month? 

 

2) A school library had 7812 books. 436 torn books were thrown away. How many books 
does the library have now? 

 

3) The population of a village is 4837. 2989 of them are males. Find the population of 
females. 

 


